


For more help visit our website https://www.exampaperspractice.co.uk/

https://www.exampaperspractice.co.uk/


(f)  (cleaning liquid) B

and

greater reduction in number of bacteria (after cleaning) in both locations

ignore few bacteria in both locations

allow neither / both and idea of experimental error

1

For more help visit our website https://www.exampaperspractice.co.uk/

https://www.exampaperspractice.co.uk/


2

For more help visit our website https://www.exampaperspractice.co.uk/

https://www.exampaperspractice.co.uk/


For more help visit our website https://www.exampaperspractice.co.uk/

https://www.exampaperspractice.co.uk/


(b) Level 3 (5-6 marks):

Relevant points (reasons / causes) are identified, given in detail and logically

linked to form a clear account.

Level 2 (3-4 marks):

Relevant points (reasons / causes) are identified, and there are attempts at logical linking.

The resulting account is not fully clear.

Level 1 (1-2 marks):

Points are identified and stated simply, but their relevance is not clear and there is no

attempt at logical linking.

Level 0

No relevant content

Indicative content
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(c) any three from:

• sterilise agar (before use)

• sterilise (Petri) dish before use

• disinfect bench (before use)

• pass inoculating loop (through flame)

• secure lid with (adhesive) tape
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• minimise exposure of agar / culture to air / lift and replace lid as quickly as possible

allow:

• dip loop into ethanol (after flaming)

• keep the lid on the plate for as long as possible

or

minimise exposure of agar to air

or

only tilt the lid off (rather than remove it)

• flame the neck of the bottle

3

(d) to prevent the growth of a harmful pathogen
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(d) Level 2 (3–4 marks):

A detailed and coherent explanation is provided. The student makes logical

links between clearly identified, relevant points that explain why plants with

TMV have stunted growth.

Level 1 (1–2 marks):

Simple statements are made, but not precisely. The logic is unclear.

0 marks:

No relevant content.

Indicative content

• less photosynthesis because of lack of chlorophyll

• therefore less glucose made

So

• less energy released for growth

• because glucose is needed for respiration

and / or

• therefore less amino acids / proteins / cellulose for growth

• because glucose is needed for making amino acids / proteins / cellulose
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